
A

30

19

35 20 10

29

13

28

26

12

34

21

2711332321

17

16

18

31

3

4

5

7

9

6

8

15

14

 A 
 1 : 5

22
23

24

25

- Onderdelen -
- Spare parts -

- Pièces de rechange -
- Ersatzteile -

Y422013

Pos. Art. Nummer Omschrijving QTY Pos. Art. Nummer Omschrijving QTY

1 Y422013-01 Base 1 19 Y422013-19 Air Bag 1
2 Y422013-02 Buttom Cover 1 20 Y422013-20 Jack Pad 1
3 Y422013-03 Inner Member #1 1 21 Y422013-21 Handle Sets 1
4 Y422013-04 Inner Member #2 1 22 Y422013-22 Intake Valve 1
5 Y422013-05 Inner Member #3 1 23 Y422013-23 Air Connector 1
6 Y422013-06 Big Lock Ring 1 24 Y422013-24 Pressure Relief Valve 1
7 Y422013-07 Inner Member #4 1 25 Y422013-25 Discharging Valve 1
8 Y422013-08 Small Lock Ring 1 26 Y422013-26 Pipe Joints 1/2 1
9 Y422013-09 Inner Member #5 1 27 Y422013-27 Pipe Joints 3/8 1
10 Y422013-10 Top Cover 1 28 Y422013-28 Pipe Joints Nut 2
11 Y422013-11 Handle Assembly#1 1 29 Y422013-29 Air Pipe 1

12 Y422013-12 Handle Assembly#2 1 30 Y422013-30
GB_HEXAGON_TYPE22

M6X16-N
16

13 Y422013-13 Valve Block 1 31 Y422013-31
GB_FASTENER_WASHER_S

W 6
23

14 Y422013-14 Bag Ring 2 32 Y422013-32
GB_FASTENER_SCREWS_HS

CHS M6X20-N
10

15 Y422013-15 B27.7M - 3BM1-125 1 33 Y422013-33 GB_HEXAGON_TYPE9 M6-N 8

16 Y422013-16 Wheel 2 34 Y422013-34
GB_SOCKET_TYPE7 M6X10-

N
4

17 Y422013-17
GB_FASTENER_WASH

ER_PWLAC 6
2 35 Y422013-35

GB_SOCKET_TYPE7 M6X20-
N

1

18 Y422013-18
GB_FASTENER_WASH

ER_SMWC 8
2

olagus
Highlight

olagus
Highlight

olagus
Highlight


